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General Instructions :
1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the (Juestion Paper to verify that the total pages and the total number of
questions contained' in the Question Paper are the same as those printed on the top of the
first page. Also cH#k to see that the questions are in sequential order.

3  For the objective pe of questions, you have to choose any one of the four altemnatives
given in the questidn i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book gl\eklj to you.

4  All the questions iﬂéludmg objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

~ Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate,

6  Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic: devices in the Examination Hall.

7  In case of any douEt or confusion in the question paper, the English Version will prevail.
8 Write your Question Paper Code No. 69/MAY/4, Set - on the Answer-Book.
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The Question Paper is in English/Hindi medium only. However, if you wish, ¥ ¢

answer in any one of the languages listed below : Marat i,
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannadz, Telygu’ Sinc ]
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit E.md - i
You are required to indicate the language you have chosen to answer 1n the _~
Provided in the Answer-Book. i ';
If you choose to write the answer in the language other than Hindi and Eaglise 3

rf;Slponsibility for any errors/mistakes in understanding the questions will be yours
only. ; }
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[ (1) Answers of all questions are to be given.in the Answer-Book given to you.
- Tefi gl o 3T Tuehl TR I gkt H & ford|
(2) 15 minutes time has been allotted to.read this ‘question paper. The question
: paper will be distributed at 02.15 p.m.. From.-02.15 p.m. to 02.30 p.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period. . '
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SCIENCE AND TECHNOLOGY

(Fem o dreifed)
(212)
Time : 2% Hours] [Maximum Marks : g5
T 24 w2) ‘ [ - g5
Note : 8) This question paper consists of 43 questions in all.

All questions are com

: pulsory.

(}11) Marlfs are given against each question.
(iv) Section A consists of -

(@) Q.No. 1 to 17 - Multiple Choice type questions (MCQs) carrying 1 mark
each. Select and Wﬁtel I;hz m(?;t aptgfopriate option out of the four options

given in each of these questions. :

(b)) Q. No. 18 to 28 - ()bjgcﬁve type questions. Q. No. 18- to 27 carry
02 marks each (with 2 sub-parts of 1 mark each) and-Q. No. 28 carries
S marks (with 5 sub-parts of 1 mark each). Attempt these questions

as per the instructions given for each questions.
(v) Section B consists of - : :

(a) Q. No. 29 to 34 - Very Short Answer t‘ype.-questions carrying 2 marks
each and to be answered in the range .of 30 to 50 words: -

(b) Q. No. 35 to 41 - Short Answer type questions carrying 3 marks each
and to be answered in the range of 50 to 80 words. - -

(c) Q. No. 42 and 43 - Long Answer type questions carrying S marks each
and to be answered in the range of 80 to 120 words. -« :
P () 3@ v ¥ oW 43 9 | :
() wh g atEE ) :
(iii) T 9T % 3 TEh T A T el
(iv) @ & & afakm § ¥ Wigrres SRS 1T
() 9 wem 1 ¥ 17 9% Sgaedd T & g ¥ o WRe 1 3%
o ¥ T R TEE e § R T A feedt § ¥ W SugH fodhed @
(b) WeT G 18 & 28 7% TGHS TER & ¥ T U HEA-18-% 27
% GG U 2 3 b ¥ (0% 1 o % 2 TN & W) e
qeT-gE 28, 5 3@ B T (W% 1 3F &5 IU-Wwl & qY) | ID
v % fo fu o st & oER 39 usAl %I fodl
(v) &R AR ey e N s R R
(a) qo T 29 ¥ 34 @ dfiey SA0T WER % A4 s & U §,
=7 gt & oax 30 ¥ 50 =i ¥ fiy wm afw)
(b) wsF wem 35 ¥ 41 T Y ST VAR & AN-dm ol & 9 -4
Y g ue % e 50 § 80w ¥ Ry s afw
() e wem 42 T 43 3 Sl R % ue-ui @l h 9 4
=7 uedt % Sox 80 H 120 9= ¥ Ruoww wRwr
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SECTION - A

qm - a'l‘
& ‘ assium?
I orrect electronic configuration of pot I

W'mln one of the following ig the ¢
Bty ¥ 4 Q3 @ G afY vzt P § 7
(A) 28,18 B) 288"

() 1508 (D) 2487

"he derived §1 unit of stress 18 : [I;;
1y g §1 o ¥ -

8) kg mad~ ®) § m s2
©) kg m2y- (D) g_‘g m? g3

‘ = '
Write general form of equation for the rcaalon of bases with non-metal [

e
Base + Non-metal oxide — Salt + W?’_ltcr

(B)  Base + Non-metal oxide - Salt + &id
(C) Base + Non-metal oxide = Elementes Water
(D) Base + Non-metal oxide — Salt + Metal oxide
e sifaerest ) e 4 w0 SN A e v o ffeg)
(A) &t + srenfees aframge - A0 + 9
(B) mt + arenfes oifeomgs — @ + o
(C) @t + ol sifEe ->a<-cr+a-ﬁfn
(D) gt + srnfees afamge — @@ + m@émwss
4 Balanced forees: H 1
(A) do not change the state of rest or mqgon of an objev
(B) can only pull an object.
(C) cannot deform an object.
(D) act in the direction of motion of an phject.

'{-l_g[ﬁ?l g m
(A) a@?ﬁrfarmmmmfrﬁrﬁ'trﬁ‘clﬁﬂﬂﬁm|
(B) el 7 # dha b %

(C) o & AR T8 ¥&w Weber |

6‘)/“) na iﬁﬁn ﬁé ﬁ IMHH||||||[|||||||||l||||||‘||||||||ll| [ Contd...
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5 work done by a force will be maximum if on applyiﬂg the force on a body

(A) the body remains at rest.
(B) the force t.iisplaces the body at an angle Of 30°
(C) the body is displaced in th'c\dimﬁon of force.
(D) the body is displaced in g ditection opposite to the
mmmwmmmmmﬁg@ﬂﬁ“‘
(A) Tq farmaen ¥ 8wy

&
(B) T, TG B T R RW A 303 gy . Reentrs ¢!
(C) o, T @t fean # forearfa o oy 2
() g, T T B i R e

e i B
6  The pancreatic juice does not cantain the e - 1
(A) Trypsin ~ +(By Amylase
(C) Lipase © D) Pepsin i X
aprerdl @ # e deEE @ aa?_ :
(A) e f~ (B) T

(C) v g (D) e

7 A greep-sayer over old copper cg?p is generally due to
A)Teduction leading to formatign of copper oxide.
(B) oxidation leading to formafién of copper sulphate.
(C) oxidation leading to formation of basic COPPET carbonate. ' I
(D) oxidation leading to formation of copper. '

7 % i R TR T A g P @ A AR TwE -
(A) aw,mﬁwmggw%l ;
(B) WWWWW%I iy
(€) W,WWWEE@ZW%I

(D) aea; Fred Bia & § -

with the direction of force.

force applied.

8  What is earthquake? E; 1
(A) Heavy rainfall w B) Oceanic tide PGS
(C) Sudden shaking of earth’s orgs t /D) Volcanic eruption
=

yHY HT 7 i
(A) sl aut o (B) wrmim w=WR

(€ gﬁﬁmmm%%ﬂﬂ (D) “STHE & AT

- «Annati Educations
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Which f
of the the parts o neurons?
¢ following arc ¢ ral column

(A) bram spinal cord and v€

(B) rite, axon and cel Od{ls
senso erve
ry and motor 1 mpat athetic nervous systems

(D) sympathetic and pﬂﬁlsy

9

Frerfafm & oy =gra & T ¢
(A) wfteres, ﬂmﬁg ot A63E
(B) g, i o AR
(C) W o Srvw el zﬁrﬁ
(D) ergamit 7 e Cald et
' femal [ive system in 4
0 (Fc liO tion usually takes place 1 a(g)"a Stl;pro uctiye —
(©) Zgi?;a (D) Fallopian tube
e o P S B b o
) s (B) Ty &
(C) = # (D) WhefE S ¥
11 Which of the following group of animals 1s a primary consumer in a biotic |
COlmm‘lami\‘/?orc (B) Scavenger |
(©) Omnivore (D) Herbivore g o
Wﬁﬁﬁqmﬁﬁﬂﬁf@ﬁﬁﬁﬁ@aﬁmﬁﬂ—mw@mﬁﬁm .
(A) =T (B) HEr@r
(C) waErErd (D) STaTETd
|

12 The wavelength of 8 sodium light is 589 nm. It is the same as

Hifega gebrar avr%sﬁar589mn%lu€ﬁ-ﬂf%rﬂﬂﬁ%5€rw%—
89 x 10° m ‘ B) 5.89 x 10° 7 m

(C) 5.89 x 107 = 9 (D) 5.89 % 1012 m

13 What will be the pH of a solutlon in which the concentrat
islE0is 10~ mol L~1?

jon of hydrogen 1

ions

wmﬂm“rpra’ﬁ m@mwmmxlo—‘?mou'%?
(A) 1.0 x 1079/  (B) -

©) -8 {D) 9

t is the weight of an object of mass 20 kg? (Given g = 9.8 m s~ 2), 1

14 Wha
e 20 kg 1 TG F AT Fow wwm? (R % g =9.8 ms?)
() 196 kg (B) 19.6 kg

196 N

69/MA nnati E ﬁ/{l c athyorrs | oo
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15 Three resistors of 1Q, 2Q and 3Q are connected in parallel. The combineq 1
resistance of the three resistors wi|] pe -

(A) less than 1Q
(C) greater than 3Q

(B) tetween 1€ and 3£

(D) equal to 2
10, 2Q 9T 3Q & A TR w4 i 1 A TR BHGR

yRY e
(A) 1Q ¥ 3 B) 10 ot 3Q & I
(C) 3Q ¥ s D) 20 % T
16 The image formed by a convex lens between focus and tWice the focus is 1

observed to be real, inverted and diminished than the object: Where should be
the position of the object?

Mt 2 (B) Beyond 2F

(C) Between F and optical centre (D) Between F and 2F
Wﬁﬁﬂmﬁmmmgm%mmwﬁmw.
Wmﬁa%mm“'ﬁﬁﬁaﬁrmﬁﬁm?

(A) 2F T B) 2F 3 W

©) memaﬁ'%@ﬁ (D) FGﬁTZF%m

17 Which of the following does not belong to the same homologous series? 1
frafifad & ¥ 3 TH & TEEE goy 4 gefa T8 8 7 |
(A) CH, (B) C,Hg
(C) CHyg ©)y C;Hg

18 Match column I statement with the correct dﬁtion of column II. ; 2

Column I Column II ' .
(a) 10 kWh (P) 3.6 x 108 J@
(b) 98N (@ 98 ke W)
(R) 746 J
() 1kgwt -
w9 1% B9 # @ 11 % 9 foehed ¥ GaRd Hfae:
w1 w11
(@) 10 kWh (P) 3.6 x 1087
(b) 98 N (Q) 98 kg wt
“(R) 746 ]
(S) 1kgHR
-swwiJpnati Educations™
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2 : : et 1+
= lete the following semence bypptions given in the brack 1

''S%, protons, atom, electrons, valence) _ 1
-—+\

(®) Helium has two in its atom. These will occupy e ——— 273

shell.

m " A ity 1.'_1
(b)  The number of electrons determines the combining ¢apac 23

v

ofian __ of an element.

reforttan amt @t aes BT T R & o i -

(Vo1 v, ey, e, )

@) PhrmEaem A _2 VA gy fem A

(b) R am ¥ BET @B ot o gl
f?;ﬁfﬁﬁm%l

20 WnteJ_RUE(T) for correct statement and FALSE(F) for incorrect statement : 1+

(@) Double bond is formed when two similar atoms share two pairs of electrons
between them. :

(b) The covalent compounds conduct electricity and are called good conductors
of) electricity. : <

T B ¥ forg w1 (T) o T FE B g o (F) '

(a) g%—ﬂuww%wﬁmwmeﬂagﬂaﬁﬁﬁﬁ [ Bl
TE & 81 Trws | =

(b) &eeeich s g a1 T AT & o g 35 g e 2 ALIE

21 tIﬁiead V;:%e following passage and answer the questions (1) and (2) that - 1x2

ollow,it: :

The b;;;m, a very delicate organ is well protected within the bony cranium
(brainchox). It is further protected by three meninges (that is, membranous
coverings) which continue backward over the spinal cord. These meninges are:

(1) Dura mater, the outermost tough fibrous membrane, (ii) Arachnoid, the thm
d.elica@middle layer giving a web-like cushion, and (iii) Pia mater, the i;mennost
hlghl}.r vascular membrane, richly supplied with blood. The spac;e between the
covering membranes is filled with a watery fluid known as cerebrospinal fluid
whlc[hacts like a cushion to protect the brain from shocks.

(1) Name two meninges which protect the brain. Sl
4 why 2002
(2) E_l:he brain is encased within the . iy
{a) Craniu (b) Brainste
(c) Nerves (d) Meninges

69Mu“n'ati E d u canm‘iﬂMIM[ Contd...
9899436384, 9654279279



A o o wRede R ot Prefifa et (1) T (2) % ST AR -
ofes, U6 B o, W % .\‘mem%'ﬂﬁzmm
(mﬁﬂwm)mwﬁ:gm%mmﬁﬁ%‘am%*
(i)?{ﬂﬁﬂﬂwmﬁmﬁtﬁh(ii)m—m,mwmﬁ
@memm(m)%_m,wwwm
Wmﬁmtlmﬁmijﬁmaﬁmm@ﬂﬁﬁ“ﬁﬁ%m
aftaws 36 T T ¥ | T TR B e 4 e 3 g T T B AE B BT
1
(1) @ qbmet & T A w e @ g s &
(2) =i, %ﬁﬁrarsh’(g.

Rl e & () e T

(c) dfirmd (@

22 Read the passage and give answ%g to questions (i) and (ii) that follow it:  1x2
For fusion of their nuclei, pollen and ovule are brought together by several
agencics like the wind, water, ar@;insects. This transfer of pollen gain from
anther to the stigma of a flowetgis called pollination. Self-pollination takes
place when pollen of a flower falls on its own stigma and fertilizes the ovule,

In Cross pollination pollen from"gne flower falls on the stigma of another
flower of a different plant of the,same species and then fertilizes the ovule of

that flower.

(i) The transfer of pollen from anther to stigma is called
(a) Diffusion [* (b) Adoption
(c) Fertilization tg (d) Pollination

(i) Name two types of pollination. ,

A R e ficede aRA ok Prefifas wet () wd (if) % ST dfe:
%ﬁﬁﬁw%@wawmgﬁwmﬁwﬁﬁwmmww '
% TG T W & | TS § Preteht qxrmeser et 9o & aichnl I3 qg o ol IRr -
Fed & | IR : T Rl e % TR 6§ & a9 gud € T ove
ﬁﬁﬁam%a’rwwaﬁ%lwﬁww%ﬁwmﬁﬁ
s % gaX G B b ARwEYT g § oK 9w % ome @t Pfm

w ¥ =
(i) Wﬁaﬁmwwﬁwwﬁmm%—
(a) fewm © (b) oo :
(c) fmoaw (d) W J

; ~winnati Educations...
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ified in )
Match the variation in metallic character as per the change SPECIﬁC

Olumn.] with the correct option 0f Column.I1.

Column 11
(a) Eozluglel:icfd (From left to (P) decreases
Il
(b) Ingl;t)(}roup (From top t0 Q) increases@
bottom) (R) remains same @
(S) variation is uncertai
e o & ofardr @ 1A R T 4, 53 i 11 % ) e @ G
i .
W ESEN ||
(a) omad & @R @ TR) (P) w2 wmr &
(b) g ¥ (ew ¥ 7R Q) w5 v &)
(R) & & wear &1
() w7 afrfyaa 1

24 Write TRUE (T) for correct statement and FALSE (F) for incorrect statement: 2
(a) Metals show electropositive character whereas non-metals show
electronegative character.
(b) Sulphurous acid is called the king of chemicals,
Hﬁmw%hqw(neﬂwaamm;%mm@m:
(@) e foge et I S S g e o et $ 1A
(b) TR o BN TEA! B TS T W &) Tl

25 Fill in the blanks : O 2
(@) Carbon cycleisthe cycle by which carbon is exchanged
between » Water and atmosphere (air) of the earth.
(b) Dead plants and animals return nitrogen to the soil as compounds,
R i 21 i B vt
@ wHwm___ wifwadw wwdkgdy
argeEe § fatvg e 21
(b) 7w 9 o vy, W%mﬁmﬁaﬁa‘rwﬁrmaﬂaﬁ%
‘26 Write True (T) for correct statement and FALSE (F) for incorrect statement: 2
(a) Forest fires are caused by heat generated in the litter and other biomass
in rainy season. ' |

(b) Landslides are a majorhazard in most mountains and hilly regions as
well as in steep river banks and coastlines. :

H@rwm%rmw(T)@Rmmw%sﬁmm(F)%ﬁm
(a) o o, st & s ¥ o e oy S A S w3 B w3 chdl
(b) TRae SHUrI TRt ol vl it afie i % e et sl o et

B T JGI JHE 8| e

-WYnnati Educations ..
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27 Read the following passage and answer questions (i) and (ii) that follo\‘zv it 5
If the net external force acting on 3 body is zero,abe pody at I:CSt cont.mues@
to remain at rest and the body in motiop continues to MOV® with ‘a u.mfoml®
velocity. This property of the body is called interti%leﬂia means ‘resistance
to change )

(i) Name the quantity which causes the motion of 2 body imflal]y at rest ?

(i) While sitting in a moving bus, why do you experience & jerk when the
bus suddenly stops?

ﬂ%ﬁmwwﬂﬁaq&&mmgﬁ (i)q&(ii)%m’aﬁq: .

uﬁmmvmmmwmmsﬁtamaﬁmqﬁ@ﬁ%,ag

fertrreen & & W ® @T@a@qﬁsﬁa%ﬂmaﬂﬁfﬁﬁﬁﬁ%l

TG ¥ W I W T T £) 7o e § — e A A |

(i) WWWWWﬁWWﬁWW@ﬁSﬁHW%!

DI R LR T R R ep— S LR
TEqW B &7 -

28 Read the given passage and answer the questions that follow it: 1x5
Work done by a force acting on an object is equal to the magnitude of the force
multiplied by the distance moved in the direction of the force. Work has only
magnitude and no direction. If force F = | N and the distance moved in the
direction of the force, s = 1 m then the work done by the force will be 1 Nm.

(2) How much work is done on a 100 N stone that you carry horizontally
across a 10 m road? ‘

(A) 1000 J (B) 1007
€ 0 (D) 10 N my!

(b) Work done in a system is the measure of - ‘ - s B
(A) forqe ~ , (B) useful work &
(C) displacement | (D) energy change

(¢) How much work is done on a 100 N stone when you lift it by '1 m?
(A) 1000 J (B) 100 | =Fi 1 g
(el (D) 100 kg

(d) A force of 80 N acts on a body of mass 4 kg. What is the amount of work
done if the total distance moved by the body is 2 m and is in the direction
of the force applied? SROELR o
(A) 16017 (B) 407

(C) 160 N r‘f/ (D) 80’\] e
*s’iFrnati Educations
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() In which of the following situations work is done?

(A) A person is climbing up 2 staircase,

(B) A satellite reV?lVinlg.. around the earth in a circular orbit.

(C) Two teams play a tug of war and both pull with equal fo_rﬁ/
ing with a h :

(D) A person is standing, €avy load on his head.

A Ry e o o PR 5 3 o ey

mmwmﬁﬁmﬁé@mmﬂﬁ%qﬁwaﬁ?wﬁﬁmﬁmﬁ
ﬁ@*wﬁm%lﬁmmwm%@ﬂﬁmﬁﬁ?ﬁlﬁw
p=IN%mmﬁﬁsﬂﬁ?{‘Uﬁ@@,Flrn%,aaaagmﬁmwwf

1 Nm s {ﬂ :
(@) afx v @ 100 N & TILA 05 10 m ) wea % v & it ) e w0
R T @ e B A
(A) 1000 J 8 (B) 1007
©) 0 (D) 10 N m!
(b) et forara X fopan T AR, A E -
@ wHE e (B) i a

(C) femad @ .O' (D) St wiadw &1
(c) WIOONTMWWEWWW‘WH%WU@HmﬁWW

go £ 7 R, )
(A) 1000 ] E . B) 1007
(C) 0 f~ (D) 100 ke

?

(d) mzxkgzﬁrma@@ 80 N 1 3w @ wxan ¥1 ARk g & aF &
T g0 2 m ¥ SR T AT @ fom & ¥, o R T et <y A e a7

(A) 160 ] ,;j (®) 407 .
(C);,. 160N melses Sied . (D) 80 J

(¢) et ¥ - ufcRafel 3 wed wenla gom 37
(A) qasa:ﬁa@rﬁ«sﬁaﬁa%l
.!;;“: 5 s
(B) ﬂmqﬂ%wt@wmmaﬁqhmmw
(C) &rﬁqwsﬁ@a@%waﬁaﬁwwmrﬁfw/t
(D) T wfe aw R {1t e e @ B |

»Unnati Educations
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SECTION - B

% -3
l’\
Mritc the names of two strong acids. W) g
A vAd ol % W faftag) 8
OR / s

Write two differences between an electron affd'a neutron:

T TR M T P F D sy R

30 How does variation take place in al] the ele r;ms of a given group 2
regarding the (a) number of filled shells (b).';mmber of valence electrons?
(c) what is the effect on the force of attraction between the electrons s t‘he
outermost shell and the nucleus as one moves downwards in @ group? Explain.

ﬁﬁﬂqu%waﬁ?ﬁﬁqﬁ,ﬂw‘@}mﬁqﬁaﬁﬂﬁm—
(a)TﬁﬁSﬁﬁﬁW(b)mwaﬁMJ(c)wﬁﬁﬁGﬁTWﬁW

W ’
31 In a lens of focal length 10 cm, the sizes of the image and object are equal. 2

Name the type of lens and mention the distdnte of object from the lens.
B g8 10 om % Podh S ¥, s of R, o TUET E1 A B ST A
T fifag ok A9 ¥ R @ gl @ s Hiv

OR / s
Define (i) visual angle and (ii) power of accgmmodation

ot #RTT (i) 35T BT S (i) o &) | |
0

SR A mﬁwm%qﬁaﬁz@%w{ﬁ@m _
]

33 What will happen if a copper wire is dipped in AgNO; solution? Explain 2
the observation giving relevant chemical reaction. '
wﬁnaﬁ%@rﬁ%maﬁ@N%ﬁwﬁ@mm?ﬁmﬁmmﬁm
Tt aftfen T At - o

OR / sy o
Nitrogen forms a series of oxides with oxygen! Write the names of any four
oxides. e grt:

JTESISH, SIS % WTY Searge! @ T o S &1 e W offegel & AW
fea |

giinati Educationss
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32 Name four kinds of nucleotides in a DNA mco?ecule. ’ ‘ % 2 ‘



Write the names of the hardes! (1) natural substances and (ii) synthetic
Substances.

W‘(ﬂq (i) Wfﬂ‘m tmd airt (ii) ﬁ?ﬁﬁfﬂ Tzt % EI| ml
35 Describe Thomson's model of atom. Dray diagram of helium atom
according to this model.
T % e s 1 R T B vt %5 e v Ty A
Py g
OR /

4
Calculate the number of electrons, protons and neutrons in 491( and v
49 40 vy v N 3

|9K i lsmﬂsﬁwﬁ.mmwﬂ‘fﬂ%mmﬂm|

36 An clement having 13 electrons form iong which has

10 electrons. It has 3
three positive charges. : :
(i) How many protons are there in its fonic form?

(i) What will be its atomic number and mass number if it has 14 neutrons?
(ili) What will be the formula of its sulphate?

T o fre 13 e 8, Wm%ﬁaﬁmwﬁ%lmmm
an%:ar%y

)z ot w9 fe e 7
(11) MWWWWWWWH&M 14::5,1—-[%;
(m)mmwgimz‘mr? -

37 A constant force actmg on a body of mass 4.0 kg changes its speed from

1.0ms'to25ms!in25s. The dlrectlon of the motion of the body remains
unchanged. What is the magnitude and direction of the force? .

FeAe 4.0 kg @t e T W wita Preod sw seR a@ A 25 s ¥ 1.0m sl §

25ms-'vﬁaﬁamiﬁr%lmaﬁwﬁrwﬁaﬁf&mmﬂaﬁhﬁﬁ%lww
qfm ofT Remwm ¥ 0
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What is the magnitude of the gravitational force between the earth and a s kg
ObjCC( on its surface? (Mass of the earth is 6 x 1024 kg and radius of the eal'th
is 6.4 x 106 m)

et ot TEa waE T T TR 5 kg & R g ¥ 9 TEEAHET T B Iy
1 B ? (JE @ I 6 % 1024kg%@-(‘1¢a;a§rfaw64x 106 m %)

38 Define the terms (i) Oviparous (ii) Viviparous and (iii) Hermaphrodite. 3
Give one example of each.

frer oY & aftam i
(i) srvewwa (i) wetrawer (iii) Swafid
OR / sy
Define the terms (i) adolescence (i) puberty and (iii) menarche

fr w3 @ afem R
(i) Resirtraman (i) AR (iii) To9 et

/39 Write three functions of spinal cord. | ;
Fequs % A I e

{Oﬁ)raw a labelled diagram of energy flow in different trophic levels of an 3
ecosystem.

Pt aifters & faf Ot =% ¥ St ware @ T Awited A A

41 Classify broadly the three causes of forest fire. \ ‘ i 3
T B SR % A BR forga w § wiiga St

| it
42 (a) When white light is refracted by a prism . E+ 3 +2+1+1 5
(i) Which colour is deviated the most?

(i) Which colour is deviated the least?

(iii) Draw a labelled diagram to show the colours of white light obtained
in the spectrum.

: (iv) Write a natural phenomenon of dispersion of light.
(b) Write the nature of the image formed by concave lens

(a) W o9 ¥ 39 YR BT UG B § —

(i) weQ e fpg 1 @1 famee diar 37

(i) w8 &9 fow 1 @1 feoaa= aan &7

(iii) aﬁawm@rmﬁﬁwﬁﬁﬁﬁasﬁ#%@@wﬁmﬁaﬁ@l
o (iv) ey % Sl B UE Wiplae qfveeT ffag
(b) oradw w§ grq e wifse @ weia Wil
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(a) In your house 0n€ light bulb is f}lsed but all the rest are working. =~ 2+3=5
(b) In your sister’s doll’s house one light bulb is fused and all the rest are

also not working:

shove situations, decide How are the light bulbs connected |

In case of the 1N

(in series Of in Pafallel) ! ! ()
(c) Draw a |abelled diagram Ot an electric bej]

(a) mq%mﬁmﬁfm@a?maﬁ%%mﬁwmmﬁ%n

(b) ama?ras'-lﬂ?lﬂ‘f?m_a;m “g‘wﬁww@w%mmw
%ﬂmqﬁﬂﬁ%'almf Rt & fafyersr s s s 3 o
b sy gt & (B X T DY) 9

(© g w8 91 TR BT TR G

|
l 43 What is meant by (i) ionic bond and (ii) wévalent hond? Compare ionic  1+1+3
\ and covalent compounds on the fOHOWingg?goperties : physical state, electrical
conductivity and solubility- h
(i) o o o (if) FEa mawﬁaﬁ%?aﬂﬁﬁmeﬂ?ﬂmﬁﬁmﬂ‘f
\ N g Predfta o 3 BC ~ M S, P aw o frow

§
L
:
!

OR / s A vV
Write chemical formula for washing SOda’glow is it manufactured? 1+1+2+1
| Give two uses of washing soda. @ o
i e T AR O R | T SIS R e fa S ? i e
| % o v AR ol
| ™~ |
| L '
| v
| —_—d
| €3
| €
tﬂv.
1y
()
r €2
| v
(4
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